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Trigonometric Ratios
(p&HCHmemtallied el HmidHei

Opposite side

M Adjacent Side o

Let us take right triangle OMP

sin O = opposite side _ MP
Hypotenuse  OP
_ Adjacent side _ OM

cos @ =
Hypotenuse  OP
tan O = sin@ tg_cose
cosd’ sing

cosecl = _L, secd= A U
siné coséd

(o]

M suppayeen ubsid
egmiBament (1psHGsmewito OMP
s = sfitussd _ MP

SHIT GUOTLD OP
cos = SIBd Geen ussD  _ OM
&IT GO0TLD OoP

oy ot = cosH

Ccos 9 sing’

COSQC9=_L,' secd= ——
siné cosé

Table of Trigonometric Ratios for 0°, 30°, 45°, 60°,90°

0
Trigonometri 0° 30° 45° 60° 90°
Ratio
(& CHmemTallied
ol & HBIH6IT
sin O 0 1 1 J3 1
2 2 2
cos 0 1 3 1 1 0
2 2 2
tand 0 1 1 3 undefined
J3 QUTUIMISH S
Buieorgl
cosecO Undefined 2 2 2 1
QUGN ULIMIS5 J3
Buieurgl
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secO 1 2 J2 2 Undefined
J3 U LIDIGS
Buieorgl
cot 0 Undefined NG 1 1 0
QUG LM J3
Buieongl

Complementary angle
Briys Camemmiseien (WhHCosmemialuled alldHmidein

90°—6 90°+6 180°—6 180° + 68 270° — 6 270° + 6 360° — 6 360° + 0

Angle/
S -6 or or or or or or or or

unction

260 Z+0 760 x+6 -0 38+0 2m—0 2m+0

Sine —sinfl  cosf cosf  sinf —sinf —cosf@ —cosf —sinf sinf
Cosine cos  sinf —sinf —cosf —cosf —sinf sinfl  cosf  cosf
tangent —tanfl cotf —cotf —tanfl tanf cotd —cotfd —tanf tanf
cotangent —cotf/ tanf —tanf —cotf cotfl tanf —tanf —cotf cotl
secant secl cosecl —cosecl —secl —secl —cosecH cosecl secl  secl

cosecant —cosect secl  sec cosecl —cosecl —secl —secl —cosect cosect

PART -1

1.  Find the radius of the incircle of a regular hexagon each side of length 8 cm.
8 Q&8 LHE e CBTEIL @QFH PUWHEG DBCETHHIDIGT DIMHSH 26Tl L G356
THMHEH Hewi(BLIIg:

Pythagorean Triples
(3, 4,5) 6,12,13) (6, 8,10) (7,24, 25)
(8,15,17) 9,12,15) (9, 40, 41) (10, 24, 26)
(11, 60, 61) (12, 16, 20) (12, 35, 37) (13, 84, 85)

Find the six trigonometric ratios of the angle 6 using the given diagram
QaTBHHBLIUL[BeTen LLSHe0 0 emeull QUTBISSH 6 (PEHCaTamialLcd eldshisamend HTewH:
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GR §
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3. A tower stands vertically on the ground. From a point on the ground, which is 48 m
away from the foot of the tower, the angle of elevation of the top of the tower is 30°.
Find the height of the tower.

R Camygb SHmIsHGF CFRGHHTE 2 6. Camyrsdlear oigliGHuledmba Hmguied 48
15, GgTemevalsd o e g UeTeluledmba GCamyy o Fduled gmmsGsmenmid 30°  erefle,
CaTUIHSHet 2 WFHMSHH BHTewIH:
4. Find the value sin? Z +cos? %- tan? %
AL SIS sin? = +cos? = - tan? =
6 3 4

5. InALMN, LM is extended to O. If ZL=62°

and ZN= 31°, find ZNMO.
A LMN -e0, LM-a1 Bl O oub. Gwed LL= 62° wppid ZN= 31° eeafled L NMO
&BIT 6001 &b~
N
—31°
I 62
|
M
O3
PART -2

6.  Find the length of the chord of a circle of radius 15 cm subtending an angle of 144° at
the centre.

15 QF.185 ouyweien el LSHH&T mwwSHHed 144° GoTewl Sleened  DIHDHEGHD  [HT 6wl 6T
BoTHMSHH Hewi(BLILg.

7. A Kkite is flying with a string of length 200 m. It the thread makes an angle 30° with the
ground, find the distance of the kite from the ground level. ( Here, assume that the
string is along a straight line)

200 18 mpen(psitenn BHIEJINTEL @(H STBMTY SULIULH UBHSHS CBTRIgHEHHMH. Db [HIT6D
SOOI L SHBIL 6T 30° Camewidhansd gBUBHHINTeD, STHBBITY  HMILOLL SHH(HHSH! 616161616
® WISHSHeL LUBSHBSHI elenid HTewid:-(QmEG BIev @ ChTHCHTLIge0 o 6TenFHTHd H(HGHIH)

8.  From a point on the ground, the angles of elevation of the bottom and top of a tower

fixed at the top of a 30 m high building are 45° and 60° respectively. Find the height of

the tower. ( /3 = 1.732)

seomgullerr 16& e Leefullelmba 30 15 o wigapsien S LLGHe Gosvieen e Comydaei
Slg By o FHuler gmmsb CaTewmiseT (WPedmGW 45° wmmib 60°  ereled, GHmLys et
o WIHmBd SMeis- (/3 =1.732)
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A tree breaks due to storm and the broken part bends so that the top of the tree touches
the ground making an angle 30° with it. The distance between the foot of the tree to the
point where the top touches the ground is 8 m. Find the height of the tree.

CrTa@HaTar @ WrHHear  Guweounsd  sTBEleNs  pBhE,  SIWBhH uGH  SHCw
al(phaielLmoe, WwWisHear o & somguLer 30° CatandHmsd gBUBGSHPBH. WIsHHe o Fd
BT SuleiBhH 8 B OFTmevalsd Hogmwd OCHTHSMH  6aied, WFSHH6T  (LPID
92 _WTHMSHS HIT6wIH:-

Find the value of x in the given triang]es.
CaThsbaiul L (1pHCHTemIhHe X -6 HIL] SHT6emrsh:-

120°

PART -3

11.

12.

13.

14.

15.

A ladder makes an angle 30° with the floor and its lower end is 12 m away from the
wall. Find the length of the ladder.

@ genl 30° Camewt oenaled SauBplled FTUIHSH MEUSSLILILB6TENH. ST SlgliSHLD
geupBledpha 12 15 OFTamevalled 2 66Nl 666, eJewilulle [HeD &Tewis:

From the top and foot of a 60 m high tower, the angles of Elevation of the top of a
lighthouse are found to be 30° and 60° respectively. Find the height of the lighthouse.
Also find the distance of the top of the lighthouse from the foot of the tower.

60 5 o wyueten @@ GCaTursddear o Ff wLBBID Sy HSHWBBSEIHHSH @  HEOBIHE]
alenddler o FFufler gmmd Camewmiser (PedBGW 30°  BBID  60°6T6N60,  HEVHIBEN]
alendbsHH 2 _WTHwHd HTenid. Goed seomiseny alenddler o FHAulelmba CamLyda et
DIQHG 266N HNTHENBU|D  HIT6001h:

From the top of a tower 50 m high, the angles of depression of the top and bottom of a
tree are observed to be 30° and 45° respectively. Find the height of the tree (\/3 =1.732)
50 5 e wyweten @ BamursHHar o FAuledmbEH @b WISHeT o FF  BBID iy
SFwaBPlear @Bsad CamewmicssT (WenpGuw 30° wBBID 45%I6afle0, WIHHET o WFHmHd
srawis. (<3 =1.732)

From the top of a tower 7 m high building, the angle of elevation of the top of a cable
tower is 60° and the angle of depression of its foot is 45°. Determine the height of the
tower.

718 o _wgupeten &gl SHer o FHuledmbal CamyrsdHer o &4 Bmid Diguiemer (LpenmEu
60° BBID 45° CHTeMIHHEL QIHEUT HTEWIHMIT 6TeNe0, CHTUTHHET © WIFD HTewISb:

If the angles of a triangle are ( 5x-12), (2x+36), (3x+36) what is the value of (4x-24)?
R (WHCaTahdHev cpaiim BsmemimidaT (5x-12),(2x+36),(3x+36) eaelle0(4X-24)e01 O] wTg?
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